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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the

detailed instructions given therein.
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37T 52 T oy Feen o SR ST R |
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SECTION-I
Tue-1

Note : Answer the five questions from the para given below. Each answer should not exceed

30 words. Each question carries five marks. (5 X 5 =25 Marks)
AT U a=sE 9 Ut (5) T o SR SIS0 | Ucdsh 3R o/ (30) ITs31 T &1 18T | Ucdsh
U % T (5) IH T | (5 X 5 = 25 31 )

In 1817 Ricardo published his “Principles of Political Economy and Taxation”,
in which he presented the law of comparative advantage. According to the law of
comparative advantage, even if one nation is less efficient than (has an absolute
disadvantage with respect to) the other nation in the production of both commodities,
there is still a basis for mutually beneficial trade. The first nation should specialise in
the production of and export the commodity in which its absolute disadvantage is
smaller (this is the commodity of its comparative advantage) and import the
commodity in which its absolute disadvantage is greater (this is the commodity of its
comparative disadvantage). Suppose U.K. has an absolute disadvantage in the
production of both wheat and cloth with respect to the United States. Since U.K.
labour is half as productive in cloth but six times less productive in wheat with
respect to the United States, the United Kingdom has a comparative advantage in
cloth. On the other hand, the United States has an absolute advantage in both wheat
and cloth with respect to the United Kingdom, but since its absolute advantage is
greater in wheat than in cloth, the United States has a comparative advantage in
wheat. There are many exceptions to the law of comparative advantage. The theory of
comparative advantage need not be based on the labour theory of value but can be
explained on the basis of the opportunity cost theory (which is acceptable). It was left
for Haberler in 1936 to explain or base the theory of comparative advantage on the

opportunity cost theory.
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g 1817 H, RS 7 0T Yok, ‘TRived 31 Uielicshol ThAMT TUg ZoRIvH’
YeRTIITT <Rl TSTEH ST JemTeeh Ny ol o TR Sl | JemiTees & o e & 3TER,
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Explain the law of comparative costs.

T AT o (12 Shi ST ShiteTT |
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2. How do you explain U.K’s absolute advantage in the production of both
commodities ?

31T TohE UehR T a3l o Scate | .3, o ARUeT o1 ol T i & 2

3. What are the exceptions of the law of comparative cost ?

TS AT o o8 o 3T7aTs T € 2
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4. How do you explain the gains from trade ?

37T foFE Yeh R SATIR | ST ohi e &l & 2

5. How do you explain comparative advantage theory on the basis of opportunity cost
theory ?

TohHl AR 31T 3T AT TAGT o STTER TR qoIcHeh AT o TG Sl T T ?
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SECTION-II

Tue-11

Note : This part has fifteen (15) definitional questions of five (5) marks each to be answered

in upto thirty (30) words. (15 x 5 =75 Marks)
Me: TS I ugE (15) TR 09 & | Uedieh U9 o Ui (5) 37 € | Ucdieh ol ST i (30) VI

7 i | (15 x 5 =75 3i®)
6. Define the Neumann-Morgenstern (N-M) utility index.

=pF-ART (N-M) STRARTAT Gereish ! I S |
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7. What is meant by ‘Pareto Optimality’ ?

U TEAHAT T AT T & ?

8. Explain the concept of Aggregate Demand.

Frferd T i STROT i WL HRT |
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9. What does Fleming-Mundell open economy model explain ?

TFATRT-HE et Tett STeae Higel T TS Sheel € 2

10. Distinguish between disembodied technical progress and embodied technical
progress.

F-FATET dehtent TITd 3R Gi=Ied wifd & S 3=k i |
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11. Explain the labour-supply function as given in Ranis-Fei model.

T - ot diget H 15U 70 98-31Yfd Hoi i T HRT |

12. Explain Wagner’s law of public expenditure.

AT T Hesi ek &3 o T kU |
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13. Distinguish between Multilateral Trade Agreements and Plurilateral Trade
Agreements.

TETET MR FHE 3R el SATIR THeiial & e 3FX HRY |

14. What do you mean by an ‘Expansionary Monetary Policy’ ?
“foreaes wifses A & 319 o THer € 2
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15. List the major implications of economic reforms for industrial growth in India.

T 3 ST T 3 e oo T 3 T e e R |

16. Differentiate between ‘gross and net reproduction rate’ of population.

STEEAT 1 “Tehel 3 FeloT Ut §C o &I 370 hiTSU |
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17. How microplanning for environment leads to eco-preservation ?

YGTeR0T % oAU et st ford wrepr aTiRRerfeent - TY&IuT bl 3T 3R e & ?

18. What are the main causes of regional disparities in Indian agriculture ?

IRATT HT T WISTITH SIS o T HROT FT € 2
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19. What is meant by level of significance ?

TR TR T 7 FAE ?

20. Point out the difference between static input-output and dynamic input-output
models.

W Y-S 3R M TTIe-STSHee Wil & aid 3T Jared |
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Note :

21.

22.

23.

SECTION-III

gue-111

This Section has five (5) short-essay type questions of twelve (12) marks each to be
answered in upto (200) words. The candidate may select one elective and answer all
five (5) questions. (5 x 12 = 60 Marks)

T TUS | ARE-aRE (12-12) 37 & Gier (5) og-Fe9 TR 79T € | cdeh ol SR ol
T 4T (200) IS H STURIA & | 319l BT hoiel Ueh foehed T 9 el €U 3T Ft uiE (5)
YT & SR E | (5 x 12 = 60 i)

Elective-1

fawea-1

State and explain the properties of Least Square Estimation as given in the ‘Gauss-

Markow Theorem’.

TG-AR T H U T o7 3Tehei o TUTeH Sared 3R el TS SRS HifTT |

Discuss the nature of heterosedasticity. What are its consequences and remedial

measures ?

Tt st Tehic ot faraemT hIfsTT | 38 TR 3R SUSRI U :IT 8l & 2

Develop a simultaneous equation model for the supply of and demand for doctors in

India. Specify the endogenous and exogenous variables in the model.

IR H S o feTT AT 3R ITht 3T o foTal Feehioteh-THIehvT Hige oAk Hd | Higet
H il 3R Sfesii TRI i Teh-Teh Tieh ad1Zd |
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24.

25.

21.

22.

23.

24.

25.
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What are the different models of Time Series ? Explain any one of them in detail.

THI-FIRT0ET & fafi= Aiger = € ? 399 9 fhdl U i fofdR @ @ i |

Show that the simple regression line of y against x coincides with the simple
regression line of x against y if and only if x* = 1.

eI o x o Ta%g y ol TXet wfame @, y & faes x Sl wRet afam= 3@ & Aot @ & ok
A x2=1% |

OR / 1@t
Elective-I1
famea-11

Derive the demand curve for a ‘Giffen good’ by using the indifference curve analysis.

ST o3k TaweisuT Sl SUANT 3l §U R ]’ o Tl AT &k a1 |

Discuss Chamberlin’s solution for the problem of profit-maximisation under non-
price competition.

TR-ShiFa Uiqeqal o ST - 3TIHTHISHOT sl THET & [l TeRier THEM ot T
T |

Why does ‘Knife-edge problem’ arise in Harrod-Domar model ? How has this
problem been circumvented in the subsequent growth analysis ?

e-TIR Hee § “FU-9R THRAT T I 8icll & 7 et Ggig favetsor § 78 qoen fFy
TR & TE ?

What is meant by dynamic multiplier ? In what why is it different from static
multiplier ?

TeTCHR T[UTeh ST ST 37 & 2 TR U ¥ 7% b ke W T & 2

Discuss Kaldor’s model of economic growth.

3Tk Wgfeg & FHoek HEe i foa=mT SifTy |

OR / et
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Elective-III
fawea-111

Discuss the factors responsible for the rise and fall of the Bretton Woods system.

g JSH HIT % IAR 3T =g o 7T IR HRehT i foa=mT i |

Explain multilateral trade agreements regarding Trade Related Investment Measures

(TRIMs), Trade Related Intellectual Property Rights (TRIPs) and anti-dumping.

MR wEtgd FewT urt (TRIMs) 2R et aifge T siasr (TRIPs) 3R tar-
ST Q TS Tguelt SR THEHA! bl T T § AR FRY |

What do you mean by ‘regional trading blocks’ ? Explain the impact of regional

economic groupings on trade prospects of developing economies.

TR SR WEP ¥ 39 1 gHerd € 7 fIRa=gE 39 o MR st et genenst |
TR RTeR 3TTEreh THRTHUT o TS ht ST R |

Discuss the international debt problem of the developing economies in 1980s. Explain

the factors responsible for the rise of the said problem.

1980 % T H forehT=T IPT ht STeRIS K0T TET i foaerT i | 30 T 3 39R
% 7T TSR ST & ST it |

Distinguish between ‘Spot and Forward Exchange’ markets. Explain ‘Interest

Arbitrage’ and the efficiency of ‘Foreign Exchange Markets’.

IR Te araeT faf g SRy & i 3T SHINT | SIS -0 3R feent fafea

ST ohl AT hi ST ShITSTT |

OR / et
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Elective-1V
a1V

Discuss the productivity trends in major food grain crops in India after the

introduction of economic reforms. Explain the factors that account for these trends.

IRA | 3T GERT i TR A & 9IS T QIR Al i IcAEehall i GG i fer=m
THINSTY | S SHREhT ol AT HITSTT ST & Ugfera o fory FeR € |

What are the factors responsible for instability of farm incomes in India ? What

corrective measures, in your opinion, can be adopted to this effect ?

YRS F P T §H AT T T SRR o fely STHTR FRe FF 9 € 2 30t 79 5, 39
T T YRR ST TR ST el § 2

Discuss the factors that account for rural-urban and rural-rural migration of workers

in India. Should the ongoing trends to this effect be reversed ? Elaborate.

AR | HHSHRT o AHO-RE 3R ATHO-U1H0T Ford T o T i § heh fer € 2 39
Tra | STRT Uit st om et fSem 3 3t et ? foar @ aared |

Explain the structure of agricultural credit in India. Critically examine the

institutional flow of credit to the agricultural sector in India.

IRA § I R0T % Fd i T HRT | YR H P &3 T F0T o TN YolTE i STeAaTeHsh
Tt T |

Discuss the implications of Multilateral Trade Agreements in agriculture for the farm

economy of India.
IR i Y STITaRe & foIu iy | sguelt SR queiial o Hiedret st fose=mT Hife |

OR / gt
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Elective-V

fawea-v

Discuss the relevance of economic planning in India in the post-reform era.

IR B, IR STRITR 16T § 3T FEISH Bl TETehRdT o foeremT hifete |

Discuss the trends of poverty in India during the post-reforms period. Is the existing

poverty alleviation strategy effective ? Elaborate.

IRA § GURT & 1% % el § AT Sl Uit st fger=mr sifie | 3 Hisgr He=adr sueme
oI TTEul § 2 foRaR 9 v R |

How has the process of globalization impacted the growth of industrial sector in

India ? Elucidate.

J-HETARIUT i AT = TR | ST &3 S Wi i fohd TR mefad oo & 2 Tweme
T HF |

What is meant by women empowerment ? Discuss the significance of women

empowerment in the context of a developing economy like India.

TTEeAT HIRTehROT T T 319 & 7 YR ST FerahTai=e <91 o T3] | Higetl TeIfekishior & Hecd
1 e i |

Describe the major changes as have been brought about in Fiscal Policy in India in

the post-reform period. Are these changes in the right direction ?

IR H, GUR-IHITR H1eT H, TSN Aifd H o> 7T T UREd=T 1 90U RIS | 7 T8
ReEa et [Gem H & ?
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SECTION-1V

gue-1V

Note : This part has one question of forty (40) marks to be answered in upto 1000 words.

e

26.

Y GUg H AT (40) 3R T Uh W9 € TG ST Th eR® (1000) I15i § <1
g (1 x 40 = 40 Marks)

Explain the relationship between population, poverty and environmental degradation
with special reference to India. What are the measures taken in India for
environmental protection and preservation ? (20, 20)

AR o o9y =y |, S, Feaar 3 qaieroia fFeienor o e G shi T S
T | TR H FATER0T 3 TRET0T ST R o 1 3UT fohu M0 € 2

OR/zreat

Explain the Agreement on Agriculture (AOA) of WTO. How does it affect India’s
agricultural sector ? Do you find any opportunities available to Indian agriculture
under the WTO regime ? (10, 20, 10)

WTO & Wide 3 Wil (AOA) i SRS FIST | 76T TR T8 TR & HT &5 H
TIferT YT € 2 T 3T THed € o WTO e & Siaiid “RAld Hi & fou g 3o
ST & ?
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